[image: image1.wmf]A pizza parlor offers certain number of toppings that you can choose from to order a large pizza. The task in this problem is to determine the number of possible ways there are to order a large pizza, given a certain number of toppings. Your count should include the case of no toppings and should not allow double toppings. For example if the parlor offers exactly two toppings (mushroom (M), pepperoni (P)) that you can choose from then there are following four possible choices: 
A pizza with no topping

A pizza with one topping: Only Mushroom  (M)
A pizza with one topping: Only Pepperoni (P)
A pizza with two toppings: Mushroom and Pepperoni (MP)
(a) Suppose the parlor offers exactly three toppings (mushrooms, pepperoni and sausage) that you can choose from. How many ways are there to order a large pizza (no double toppings are allowed). For example, mushroom, pepperoni and sausage (MPS) is one possibility; so is mushroom and sausage (MS), but not double mushroom and sausage. Again, your count should also include the case of no toppings. In the space below, use words or symbols to itemize your choices of pizzas.
(b) Answer the question from part (a) if the parlor offers exactly four different toppings to choose from. (Make up your own favorite fourth topping!)
(c) Complete the data in the table provided below from your answers for (a) and (b).
	Number of Pizza Toppings
	Number of possible choices

	1
	2

	2
	4

	3
	

	4
	

	5
	


(d) Do you see a pattern? If so can you predict the answer when there are ten toppings to choose from? Can you determine an algebraic rule that generalizes the number of ways to order a large pizza for any given the number of toppings? 












